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Instructions
For the following questions answer them individually

Question 1

Four sentences are given below. These sentences, w rranged in proper order, form a logical and
meaningful paragraph. Rearrange the sentences and choose the correct order as the answer.
A. It is advisable to practice this kind ofjuﬁping at first without a run.

B. The pole which is used for the ex\o\i;e should be of sound ash, rounded throughout its length.
C. For this purpose he who is about to-j 1\‘ <ﬂ:e nd of the pole in the ground in front of him.
D the j

. It should be in proportion to the heigh umper and the space to be jumped over.

A BDAC ﬂ?>

~7

B DBAC 1\ ',\. ﬁ'
C BADC \\—/
D DACB
f,m
Answer: A t / .
|| |"J I."‘I '\l ‘]‘\/
| | }
Explanation: ' \ /)

On carefully readingftjhe sentences.we see that the topic of the discussion is about the pole leaping exercise. Thus
sentence B which inltnbduces the pole must be the starting sentence. ‘It’ in sentence D refers to the length of the pole
as described in sente hge B. Thus sentence D logically follows sentence B. Sentence A gives advice about how to start
with the exercise aﬁ\f\w C further adds information. Thus AC is a pair and must come after D.

Hence, the correct order of\the' sentence is BDAC.
Hence, optigf‘;)A is the right answer.

L/
Question H

Four sent'é_"' ces are g"jﬁlen below. These sentences, when rearranged in proper order, form a logical and
meaningfuwh. Rearrange the sentences and choose the correct order as the answer.

A. But they were sadly disappointed to learn that a telescope costs so much money that he could not
think of buying even one of the smallest size.

B. They knew the chief constellations and the place of the planets among the stars.

C. The parson's boys were very fond of astronomy.

D. Their father told them how splendidly the moon and the plan look through a telescope.

A CBAD

B CBDA <:::>
C DACB
D CDAB <:::>

Answer: B

Explanation:
On carefully reading the sentences we see that the topic of the di ion is about the parson’s boys love of

i arting sentence. In sentence B the author

)my of the boys. Thus B must come after C.
According to sentence D the boys were introduced to the tele e by their father, but sentence A points out the
disappointment of the boys due to the financial constraint in buying one telescope. Thus DA is a pair which must follow
after sentence B. i \

Hence, the correct order of the senten CBDA} \/’//,7

Hence, option B is the right answer. \f-
\\J/
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£/
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Question 3 ( m

Four sentences are given below. Tﬁe§e s‘(:,‘fé’nces, when rearranged in proper order, form a logical and
meaningful paragraph. Rearrange t e sentences and choose the correct order as the answer.

A. The winter wore away by degrees.

B. Amid the noise and thynder of avalanches, the sun exercised its silent but mighty influence renewing
the greenery. 4 \ .y

C. The warm south wmd.crept slo through the valleys, melting the snow from the mountain-sides, and
calling into life hundreds oflsipark g streams.

D. Waterfalls foamed, and eho\?'_n;dus masses of snow came crashing down from the mountain-peaks.

£
| f'
L |

A CDBA QA
- \\\
B ABDC N
Y 4
C CABD //
[ |
D ACDB |\

Answer: D\::—//’ !

Explanation:
On carefully reading the sentences we see that the topic of the discussion is about the summer arrival of summer
which caused melting of snow and forming of streams. Thus sentence A which starts by stating the end of winter must
be the introductory sentence. Sentence C further elaborates by statin(_ptﬁ warmth came after the winter went away.
Thus, C logically follows A. Sentence D talks about the avalanche an)d/B explains the formation of greenery amid the
noises of the avalanche. Thus DB is a pair and must come after -

Hence, the correct order of the sentence is ACDB.

Hence, option D is the right answer. _><\ >
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Question 4

Four sentences are given below. These sentences, when rearra ged in proper order, form a logical and
meaningful paragraph. Rearrange the sentences an¢chaose the correct order as the answer.

A. He could scarcely hope to continue such a dangerous\s T}ggle much longer.

B. He was becoming faint from terror, and his le hand was t growing benumbed with grasping the
rock.

C. He tried to seize the vulture's throat and strangle\nt, he bird was too active and made all such
attempts perfectly useless.

D. In this dreadful crisis, Walter pressed a hard as he could against the rocky crag, having but one hand
at liberty to defend himself agamst‘the furlb\ls attack of the bird.

. \ — —_
S \ ___----'
Y
A CDBA \\
W
B DCAB V 4
f ‘v'
C CDAB (| b
III \ /- /
\\L Y.,
D DCBA \:_:\-{_,/
Answer: B
AN
Explanation: £/ \ >

On carefully reading the senten,ces wel ée that the topic of the discussion is about Walter being viciously attacked by
a vulture. Thus sentence D whlth mtroduces the topic must be the starting sentence. Sentence C gives further details
about how Walter tried to save h1m5124f but failed. Thus, C must be directly after D. Sentence A tells how Walter had
fewer hopes of savnl{g’ himself and sentence B gives the reason why the hopes of continuing the struggle were less.
Thus AB forms a pair.and must come directly after C.

Hence, the correct\drdé_rxq_f the sentence is DCAB.

. .,
.
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Hence, option B is the right answer.
Question 5’ 4

Four senﬂénces are given below. These sentences, when rearranged in proper order, form a logical and
meanmgfhtparagraph Rearrange the sentences and choose the correct order as the answer.

A. At last, théydetermmed to decide the matter in the old knightly manner through one on one match.
. James and Henry were two school-mates and warm friends who went to the same school.

B
C. Each tried to be the captain and lead the team against the close rivals.
D

A BDCA

B BADC

C BCDA

D BACD
Answer: A

Explanation:
On carefully reading the sentences we see that the topic of the drscussmn is about the start of a rivalry between two
friends who wanted to lead their school football teameentence B |éh introduces the friends must be the starting
sentence. Sentence D highlights the start of a rivalry betWeen the nd sentence C gives specific detail about why the
rivalry started. Hence, DC must be a pair and must come after B. Sentence A finally talks about how the friends
decided to end the matter and thus, must be the concluding sentence.

Hence, the correct order of the sentence is BDCA.
Hence, option A is the right answer. &

\is/

. v\
\

Question 6

Four sentences are given below. These sente\i“lc-é‘s)w when rearranged in proper order, form a logical and
meaningful paragraph. Rearrange the sentences and choose the correct order as the answer.

A. When he first came to his crowﬁ/m order to obtain a knowledge of affairs, took great pleasure in
night excursions, attended by a tl‘usty mmlstgr

B. Once as he was passing throu h a stree he heard loud voices of three brothers and approached them.
C. Kosroushah was named the new\\emger y/of Persia.

D. He often walked in disguise through-the city and met with many adventures.

Poio— B

A CDAB 4 77

'LJ'I ‘I-’ ."I.‘ \\'l [
B CBAD [( )

I'.. ' — ,//r;
C CADB o Rl
i
D CABD Q\_
Answer: C \:“‘*

Explanatiqi; 3

On careful’y[ reading ther sentences we see that the topic of the discussion is about the new Emporer of Persia and
about his |ght excursmns in his kingdom. Thus, the sentence C which introduces the employer must be the starting
sentence. SentenceA,glves information about the night excursions just after the new Emporer was crowned and
sentence D gives-further details about the night excursion. Ths, AD is a pair and must come after C. Sentence B gives
a specific instance of Emporer meeting the three brothers during one of his night excursions.

Hence, the correct order of the sentence is CADB.

Hence, option C is the right answer.
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Question 7 / // \

The question below consists of a set of labelled sentenq:esZ /bof tf}e\fgy ptions given, select the most
logical order of the sentences to form a coherent paraéra

AN
Life is never meant to /\\, ( Q '
A-country like India 7NN J
B-be easy, especially if you f\ \
C-live in a developing . !
]
T
A BAC \) ~
O
RN )
B ACB -
\\;/ 7
C BCA A
D ABC
Answer: C

Question 8

The question below consists of aj set of labelled sentences. Out of the four options given, select the most
logical order of the sentences to| form a cohe?ent paragraph.

L/
Inform all the other \§/§/
A-would be punished
B-giving them a lifttoo .
C-officers that anyone /-\ S

A CAB \ 4
B BCA &
C CBA B
B

D BAC a '

/,.'7_{/

Answer:/C

| ‘ 1]

Question 9 "/

Q.
The questlon\beioﬁ consists of a set of labelled sentences. Out of the four options given, select the most

logical order of the sentences to form a coherent paragraph.

In order to
A-regulate the technology and boost
B-the rankings, we need our
C-teachers to do exponential thinking /
A CBA / / V>
oy ()
Io /
B CAB / /////’ P
; =
Y =i
C BCA / ( /7:4\\
”F’/‘\\\“\ l\ ( ‘
D ABC \\/Qi“frtﬁé
Answer: D )

Qf\

~
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Question 10

The question below consists of a set of labé I‘ ed sentences. Out of the four options given, select the most

logical order of the sentences to forma coherent paragraph

 —

Contrast this with \ - —
!

A-the attitude of the general \\\\

B-public in the advanced O

~J

C-countries towards senior citizen/s»)

A ABC \\ /]
\s /,//
B CBA =
C CAB —
£/ v ‘H\_\
D BCA o f W
I | N
Answer: A '.._. W
0 o
Question 11 i

\. |

The question beiow‘\cqnsmts of a set of labelled sentences. Out of the four options given, select the most

logical order of the sénténces to form a coherent paragraph.
In the entire "“‘

A : process’ af discoveries

B : and development ethlcs

C: was ex led

\ y
\\:*»._____/’//
A CBA o
B ABC
C CAB
D BCA
Pt
Answer: B y //(,.. ))
Question 12 I/ \ -
The question below consists of a set of labelled sente

logical order of the sentences to form a coherent par /gra
With global warming on

A-the rise, we have to do
B-save the environment \
C-every bit that we can to S

A ABC
B ACB
da
C CAB ||
V.
D BAC W =
Answer: B .
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Question 13
The question below consists Zi’f at)of labelled sentences. Out of the four options given, select the most
logical order of the sentencés to fb m a coherent paragraph.

The smoke rises and
A-chokes my apaﬂ:ment

B-gets trapped inth
C-tree-tops and \

y

.
A BAC /,/
| bl
B ACB |\ \ /*j
C BCA 4
D ABC
Answer: C
Question 14
The question below consists of a set of labelled sentences: Out of th options given, select the most

So apart from having

A-colleagues would go out for tea at periodic interval
B-the routine coffee served

C-from the cafeteria my

A BAC Q \)
B BCA \r
C ACB \
D ABC
Answer: B \—/]
3 e
Question 15 \

The question below consists of a set of Iabellégntences. Out of the four options given, select the most
logical order of the sentences to f a
coherent paragraph. 3

]

f
[

There were too \ /

A : many doubts that cropped up \eny_/

B : seniors for clarity and resolution

C : now and then and | would run to my

A ACB g / } /
||"« /
B ABC \Vj
C CBA -i*;~,{-\
|
D CAB \
Answer: A~ J
) 4
/
{
|| ;"
| N LY
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